e 3a0day Ha 20moe8bIx Yepmexxax

EJIbHAA K
PYXHOCTW



B

Y 12:g60°
t, ‘ w(0; ),
60 AB — kacatenbHas

K OKPY>KHOCTW,
B — Touka kacaHus,
ZAOB =60°,
r=12 cm

AB.



AB —
KacaTenbHas,
R =5.

OB.




AB —
KacaTternbHag,
AB =12,

OB = 13.

R.




AB, BC —
KacaTerbHble,
OB =2, OA = 4.

ZBOC.




AB —
KacaTternbHag,
R=6, AO =
OB.

AO.



M, N, K — Touku
KacaHus




AB =10 cm,
O — ueHTp
OKPY>KHOCTWN,

CD -
KacaTernbHas,
AE ||CD

CO.



w(O; ),
AB, AC —
KacaTtellbHble K
OKPY>XHOCTWN,

AE = OE,
E e w(O;r).

ZBAC.



w(O; r),
MA, MB —
KacaTterbHble K
OKPY>XHOCTM,

C cummeTtpuyHa O
OTHOCUTENBLHO B.

ZAMC =3
ZBMC.



